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TMCS = Trimethylchlorosilane
DEDCS = Diethyldichlorosilane
FTIR = Fourier Transform Infrared Spectroscopy
SEM = Scanning Electron Microscope
TGA = Thermogravimetric Analysis
oC = �
9�&C�&C 
�
dE = /#�)/�
&2m)#5��2�# (����
&C#�+&2��)
v = ��+2���#5��2�#� !�?�����%�
<##5�� (�����9��&C#�+&2��)

o/w
γ = ��
�A
-+�/�
&2m)#5��2�# (&�+�����������9��&C#�+&2��)
WA =  ��
�)��) (&�+����������
&C#�+&2�� @�7�)�
#��������
&C#�+&2��)
C = ���2&/02/0#� !�2)*� (���2����+��)
C0 = ���2&/02/0#&�+!2�0# (���2����+��)
X = ��+2��#5��2�#� !)�)C��8)0 (���2#5��2�#������2���)�)C��)
Xm = ��+2��#5��2�#� !)�)C��8)0��
�*) (���2#5��2�#������2���)�)C��)
K = ����
� !���)�)C�������
&2 
��
K = ����
� !���)�)C�����D��
)�+=
1/n = ����
� !/�
D��
)�+=
a, b = ����
� !/�
&�2�+#
R = ����
� !/�
��s�
T = �*�@3�2+��2����� (K)
RL = �D�&��������
� (Separation factor)


